No. of Printed Pages : 2

FD101 Roll No. :

------------------------

2019
TEXTILE SCIENCE-I
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Note :

() 59H 5 A 8, 95 5 @ et ura & IR et |

Question No. 1 is compulsory, answer any FIVE questions from the remaining.
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Solve all parts of a question consecutively together.
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Start each question on fresh page.
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Only English version is valid in case of difference in both the languages.
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Give any two examples of seed fibres.
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Marino Wool
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Artificial Silk
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Twist
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Explain differences between Woolen and Worsted fabric.
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Explain the heat conductivity of wool.
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Prove that : .

Denier = 9 Tex (4+4+4)
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Define Textile fibre. State reason why human hair cannot be used as a textile -
fibre.

(i) < @ ! e < fafirm faftat e |
Explain different methods of retting of Jute. (4+8)
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Explain yarn and its types in detail. (12)
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Explain life cycle of silk worm in detail.
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e
75 kilometres of yarn weigh 2.5 kilograms. What is its count in yarn metric
system ? (6+6)
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Draw the flow diagram showing classification of Natural fibres.
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Prove that :
Worsted count = 1.5 cotton count (6+6)
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Défine count. Explain Direct and Indirect Count system in detail. (12)
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Write short notes on the following :
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Mercerising (6+6)



